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E Suppose a 1800-kg car j—
passes over a bump in a
roadway that follows the —
arc of a circle of radius
204 m, as in Figure
P7.65. (a) What force does the road exert on the car as
the car passes the highest point of the bump if the car
travels at 8.94 m/s? (b) What is the maximum speed
the car can have without losing contact with the road

Figure P7.65

as it passes this highest point?
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A b - B

A stuntman whose mass is 70 kg swings from the end
of a 4.0-m-long rope along the arc of a vertical circle.
Assuming he starts from rest when the rope is horizon-
tal, find the tensions in the rope that are required to
make him follow his circular path (a) at the beginning
of his motion, (b) at a height of 1.5 m above the bottom
of the circular arc, and (c) at the bottom of the arc.
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maximum speed the object can
have at the bottom before the
string breaks?

71. A 4.00-kg object is attached
to a vertical rod by two strings
as shown in Figure P7.71. The
object rotates in a horizontal cir-
cle at constant speed 6.00 m/s.
Find the tension in (a) the upper
string and (b) the lower string. Figure P7.71
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